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We: 

· Do not harbour anti-technology sentiments; 

· Consider industrial activities to be important to 
modern technological societies; 

· Have scrutinized data under one, and only one, 
agenda - pure scientific inquiry; 

· Are not producing a report arguing against industrial 
complexes. 

 



 

Å Humans do not perceive x-rays. 

ÅExcessive exposure to x-rays can 

be harmful. 

Å A chest x-ray, once a year, is not 

considered harmful. 



 

Low frequency waves can propagate  

over larger distances than higher frequency waves. 

Wavelength of airborne sound at: 
 

3000 Hz is 0.11 m 

500 Hz   is 0.68 m 

100 Hz   is 3.43 m 

20 Hz   is 17.1 m 



 

Acoustic wave = Pressure wave (longitudinal wave) 

An acoustic wave = ñsoundò   

if and only if  

humans can perceive it with the ear. 

World Health Organization:  

Noise = Inanimate Mechanical Forces 



 

Lower Amplitude 

Higher Amplitude 

The deciBel unit,  

dB, is used to 

measure the 

amplitude of the 

acoustic waves 

Harvey Fletcher  

(1884-1981) 

FletcherïMunson  

Equal Loudness Curves 

1920 

-- 23 healthy, young males 

-- with good hearing (assumed)  

-- exposed to series of different, 

single, pure tones at different 

levels of loudness via 

telephone earpieces - 

occluded ear 

-- asked to score the sounds for 

equal loudness.  



 

1932 



 

Specifically designed (decades ago)  

to protect the human hearing function. 



 

dBA - blue 

dBB - yellow 

dBC - red 

dBD - black 

dBG 

This team of scientists 

prefers dB Linear. 

 

NO weighting network! 



 

Microphone frequency response curve, 

as used by this team. 



 

Å Cockpit:  

72.1   dBA 

 

Å Train: 

 71.4   dBA 
 

Å Car: 

 71.2   dBA 
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Different Environments 

dBA LEVELS IN DIFFERENT ENVIRONMENTS 
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Frequency (Hz) 

 
20 500 5K 20K 6.3 100 

The person hears 72.1 in the cockpit and 71.4 on the stopped train. 
The person is exposed to 83.2 in the cockpit and 92.0 on the train. 

dBLin: 83.2, 92.0  

dBA: 72.1, 71.4  

Cockpit vs. Stopped Train 
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20 500 5K 20K 6.3 100 

dBLin: 83.2, 100.8 

dBA: 72.1, 71.2  

Cockpit vs. Car 

The person hears 72.1 in the cockpit, and 71.2 in the car. 
The person is exposed to 83.2 in the cockpit, and to 100.8 the car. 



Location 1 Location 2 

Mink Farm 

3 MW, Total Height: 150 m 


